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Introduction to Macroeconomics · 2017-18 

Problem Set 2 · Multiple choice questions 

 

 

1. Financial assets � and � differ only in two 

properties. Which one of the following sentences 

is more likely to be true? 

(a) If � is riskier than B, then �’s rate of return 

should be higher than �’s.  

(b) If � is less liquid than �, then � should be 

riskier than �. 

(c) If �’s rate of return is higher than �’s, then � 

should be more liquid than �. 

(d) None of the above 

 

2. Financial assets � and � differ only in two 

properties. Which of the following sentences is 

more likely to be true? 

(a) If � is as liquid as �, then � should be more 

profitable than �. 

(b) If � is riskier than �, then �’s rate of return 

should be higher than �’s.  

(c) If � is more liquid than �, then � should be 

riskier than �. 

(d) If A’s rate of return is smaller than B’s, then B 

should be less liquid than A. 

 

3. Financial assets A and � differ only in two 

properties. Which one of the following sentences 

is more likely to be true? 

(a) If A is more liquid than �, then � should be 

more profitable than A. 

(b) If A is less risky than �, then �’s rate of return 

should be same as A’s.  

(c) If A is less liquid than �, then A should be 

riskier than �. 

(d) If A’s rate of return is higher than �’s, then A 

should be more liquid than �. 

 

4. It is to be expected from a financial asset that, 

other things being equal, 

(a) the higher its liquidity, the smaller its risk. 

(b) the smaller its rate of return, the higher its 

liquidity. 

(c) the higher its risk, the smaller its rate of return. 

(d) None of the above 

 

5. Which sentence is highly unlikely? 

(a) A highly liquid financial asset with a high rate 

of return will be very risky 

(b) An almost riskless financial asset with a high 

rate of return will be highly illiquid 

(c) A highly liquid financial asset with a high rate 

of return will be almost riskless 

(d) None of the above 

6. Financial assets A and B, traded in a secondary 

market, differ only in three properties: liquidity, 

rate of return and risk. If A is more liquid than B 

(a) and B is more risky than A, then A’s rate of 

return should be smaller than B ’s.  

(b) and B is less risky than A, then necessarily A 

and B  should have the same rate of return. 

(c) and both A and B are equally risky, then A’s 

rate of return should be higher than B ’s. 

(d) None of the above 

 

7. Two financial assets differ in exactly two 

properties. It is then to be expected that 

(a) the less profitable asset will be the less liquid. 

(b) the more liquid asset will be the less risky. 

(c) the riskier asset will be the less profitable. 

(d) the more profitable asset will be the riskier. 

 

8. Firms cannot obtain from banks the amount of 

desired credit. Because of this, firms have decided 

to sell all the T-bills they own. What measure by 

the central bank can offset the effect on the 

nominal interest rate caused by the sale of T-bills?  

(a) An increase in the reserve requirements 

(b) A rise in the central bank’s discount rate 

(c) An expansionary open market operation 

(d) None of the above 

 

9. Which one is a monetary policy instrument of 

central banks? 

(a) The money multiplier 

(b) The reserve ratio 

(c) The total volume of bank deposits  

(d) All the monetary aggregates 

 

10. An exemple of a contractionary open market 

operation is 

(a) to decrease the reserve requirements. 

(b) to purchase financial assets. 

(c) to purchase foreign firms. 

(d) None of the above 

 

11. What is not true about an expansionary open 

market operation?  

(a) It is executed by the central bank. 

(b) In the liquidity market model, it is represented 

by a shift of the supply of liquidity function to 

the right. 

(c) It tends to cause an increase in the price of 

financial assets. 

(d) It causes an increase in the interest rate. 
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12. An expansionary monetary policy aims at 

rising 

(a) the money stock. 

(b) the interest rate. 

(c) the foreign liquidity ratio. 

(d) None of the above  

 

13. When the central bank buys financial assets, 

(a) a rise in the interest rate is to be expected. 

(b) a fall in the interest rate is to be expected. 

(c) the money stock always remains constant. 

(d) the money multiplier automatically declines 

because both the liquidity ratio and the reserve 

ratio go down. 

 

14. In the liquidity market model, what could not 

explain a rise in the interest rate? 

(a) An increase in the budget deficit that has to be 

financed by issuing T-bills 

(b) An open market operation 

(c) A reduction of the number of banks combined 

with a rise in unemployment  

(d) An increase in the number of banks combined 

with a fall in the number of firms 

 

15. The interest rate has dropped. A possible 

explanation is that 

(a) there are more banks and fewer firms. 

(b) there are fewer banks and fewer firms. 

(c) there are fewer banks and more firms. 

(d) None of the above 

 

16. What could explain a rise in both the interest 

rate and the amount of liquidity? 

(a) An open market operation 

(b) An increase in unemployment 

(c) Neither (a) nor (d) 

(d) An increase in the number of banks combined 

with the issuing of T-bills by the government 

 

17. The sale of financial assets implemented by the 

central bank 

(a) tends to reduce the interest rate. 

(b) tends to reduce the money supply. 

(c) increases the money multiplier because it 

necessarily causes a fall in the liquidity ratio. 

(d) tends to raise the interest rate. 

 

18. Which of the following is not a monetary 

policy instrument of a central bank? 

(a) Open market operations  

(b) Reserve requirements 

(c) Interest rates set by the central bank 

(d) None of the above 

19. When the central bank sells financial assets 

(a) the interest rate tends to rise. 

(b) the interest rate tends to fall. 

(c) liquidity tends to grow. 

(d) the money multiplier increases because the 

sale of financial assets causes a rise in the 

reserve and liquidity ratios. 

 

20. What decision by the central bank could offset 

the effect on the interest rate of a worsening in the 

expectations on the short-term evolution of the 

economic activity? 

(a) The reduction in the reserve ratio 

(b) The reduction in the interest rate at which the 

central bank furnishes loans to the banks 

(c) The purchase of financial assets 

(d) None of the above 

 

21. If the number of banks increases and the 

number of firms decreases, it is likely that the 

interest rate 

(a) none of the following. 

(b) will necessarily remain constant. 

(c) will rise. 

(d) will fall. 

 

22. Revenues from taxes are insufficient to cover 

the government expenditure. In the liquidity 

market model, what could neutralize the effect on 

the interest rate of the government deficit?  

(a) A contractionary open market operation 

(b) That the most important banks go bankrupt 

(c) That firms sell financial assets they own to 

finance new investment projects 

(d) An increase in unemployment combined with 

the closure of 20% of all the factories 

 

23. If the central bank executes an expansionary 

open market operation and, simultaneously, the 

government issues massively T-bills to finance an 

increase in the government expenditure, then 

interest rate  

(a) necessarily rises. 

(b) necessarily falls. 

(c) only remains constant if nobody purchases the 

T-bills the government issues. 

(d) None of the above 

 

24. Which event could cause a fall in the interest 

rate but not a rise? 

(a) Having fewer banks and fewer firms 

(b) Having fewer banks but more firms 

(c) Neither (a), nor (b), nor (d) 

(d) Having more banks but fewer firms 
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25. A shift to the right of the supply of liquidity 

function combined with a shift to the right of the 

demand for liquidity function necessarily must 

cause  

(a) a fall in the equilibrium amount of liquidity. 

(b) a rise in the equilibrium interest rate. 

(c) a fall in the equilibrium interest rate. 

(d) a rise in the equilibrium amount of liquidity. 

 

26. How can a central bank increase the economy’s 

liquidity (the money supply)? 

(a) By selling financial assets in an OMO 

(b) By increasing the reserve ratio  

(c) By reducing the liquidity ratio  

(d) By purchasing financial assets in an OMO 

 

27. The interest rate has fallen. What could not 

explain this result? 

(a) That both the supply of liquidity and the 

demand for liquidity functions have shifted. 

(b) That only the supply function has shifted. 

(c) That only the demand function has shifted. 

(d) That the supply of liquidity function has 

shifted to the left and the demand for liquidity 

function has shifted to the right. 

 

28. What could explain a fall in the interest rate? 

(a) One of every three firms has closed down 

(b) The central bank has sold government bonds 

(c) The government budget deficit has risen 

(d) None of the above 

 

29. The central bank can provide liquidity by 

(a) conducting an open market operation in which 

the central bank sells financial assets. 

(b) raising the reserve requirements. 

(c) raising the people’s liquidity ratio. 

(d) conducting an open market operation in which 

the central bank purchases financial assets. 

 

30. When the central bank sells financial assets, 

(a) the interest rate does not tend to decline. 

(b) M0 becomes larger than M1. 

(c) the money multiplier rises, since the sale raises 

the reserve ratio and lowers the liquidity ratio. 

(d) the interest rate does not tend to increase. 

 

31. Which option lists at least two monetary policy 

instruments of the central bank? 

(a) Reserve requirements, open market operations  

(b) Deposits, loans, money multiplier 

(c) Interest rates set by the central bank and 

liquidity ratio 

(d) None of the above 

32. In which case could the domestic interest rate 

stay unaltered? 

(a) A tax previously levied on loans and paid by 

borrowers is now removed and, 

simultaneously, the central bank executes a 

contractionary open market operation.  

(b) 50% of the domestic firms go bankrupt and 

unemployment surges. 

(c) Foreign banks settle new offices in the 

domestic economy while the government 

budget deficit doubles. 

(d) None of the above 

 

33. What could not explain a fall in the interest 

rate?  

(a) Having fewer banks when more firms are 

created 

(b) An expansionary open market operation 

executed when unemployment increases 

(c) An increase in reserve requirements when the 

central bank buys financial assets 

(d) Having more banks when reserve 

requirements are increased 

 

34. In the liquidity market model, what could not 

in general explain an increase in the interest rate? 

(a) A contractionary open market operation 

(b) A lowering of the reserve ratio 

(c) An increase in the government budget deficit 

(d) The bankruptcy of most banks 

 

35. Which sentence is not true? 

(a) The sale of financial assets can be considered 

an indirect demand for liquidity.  

(b) The purchase of financial assets can be 

considered an indirect supply of liquidity. 

(c) An expansionary open market operation shifts 

the supply of liquidity function to the left. 

(d) If the money multiplier is 4, then an additional 

unit in M1	four additional units in M0. 

 

36. The purchase of T-bills by a central bank 

(a) is a contractionary open market operation.  

(b) causes a reduction in the monetary base. 

(c) exerts downward pressure on the interest rate. 

(d) None of the above 

 

37. A contractionary open market operation 

(a) aims at lowering the interest rate. 

(b) shifts the demand for liquidity function to the 

left. 

(c) is conducted by a central bank through by 

selling financial assets. 

(d) None of the above 
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38. What follows necessarily from a contractionary 

open market operation and the issuing of financial 

assets by firms to fund investment projects? 

(a) A fall in the interest rate and a rise in the 

amount of liquidity 

(b) A rise in both the interest rate and the amount 

of liquidity 

(c) A fall in the amount of liquidity 

(d) None of the above 

 

39. Banks have decided to increase the amount of 

loans they are willing to provide. What policy by 

the central bank neutralizes the effect on the 

interest rate of the banks’ decision? 

(a) A contractionary open market operation 

(b) An increase in the reserve requirements 

(c) A decrease in the interest rate at which the 

central bank lends to banks 

(d) None of the above 

 

40. What event does not tend to raise the interest 

rate? 

(a) A contractionary open market operation 

(b) An increase in the amount of financial assets 

that households would like to sell 

(c) An increase in the amount of reserves that 

banks are required to hold at the central bank 

(d) None of the above 

 

41. The central bank purchases T-bills from banks. 

What is the effect on M0, M1 and the interest rate 

�? 

(a) M1 and � go down, while M0 goes up 

(b) M1 and M0 go down, while � goes up 

(c) M1 and M0 go up, while � goes down 

(d) None of the above 

 

42. A reverse-repo conducted by the central bank 

(a) is not a way of conducting an open market 

operation. 

(b) intends to drain liquidity from the economy. 

(c) is not a standing facility of a central bank. 

(d) None of the above 

 

43. What could not explain an interest rate fall? 

(a) Important banks go bankrupt and the central 

bank implements an expansionary open 

market operation  

(b) The government issues T-bills and the central 

bank reduces the reserve requirements 

(c) Firms increase the amount of financial assets 

they buy and households reduce the amount 

of financial assets they sell 

(d) None of the above 

44. What could not explain a rise in the interest 

rate? 

(a) A contractionary open market operation 

conducted at the same time as households sell 

T-bills. 

(b) A contractionary open market operation con-

ducted at the same time as banks buy T-bills. 

(c) A contractionary open market operation 

implemented when the government reduces 

the amount of T-bills traditionally issued.  

(d) None of the above 

 

45. The interest rate is likely to diminish when 

(a) the central bank increases the level of reserves 

that banks must hold at the central bank.  

(b) the government substantially increases the 

issuance of government bonds and T-bills. 

(c) families reduce their liquidity ratio.  

(d) None of the above 

 

46. A fall in the interest rate is not to be expected 

(a) if the central bank drops to zero the amount of 

reserves banks must hold at the central bank.  

(b) if the government issues financial assets to 

finance a rise in the government budget deficit. 

(c) if households purchase more financial assets.  

(d) None of the above 

 

47. Banks have decided to lend less money. What 

measure could neutralize the effect on the interest 

rate of the banks’ decision to curtail lending? 

(a) A contractionary open market operation 

(b) Cutting the interest rates set by the central 

bank 

(c) Lowering the amount of legal (or minimum) 

reserves 

(d) None of the above 

 

48. What could not explain a fall in the interest 

rate? 

(a) An expansionary open market operation 

(b) A reduction in the reserve ratio 

(c) A massive selling of financial assets 

(d) Foreign banks enter the domestic banking 

system 

 

49. What could explain a reduction in the interest 

rate? 

(a) A contractionary open market operation 

(b) A decrease in the reserve ratio 

(c) Banks implement a massive sale of financial 

assets 

(d) 25% of all the banks go bankrupt 
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50. A contractionary open market operation 

(a) occurs when banks refuse to use the lending 

facility.  

(b) is exactly same thing as a decrease in the 

reserve requirements.  

(c) is defined as either a rise in the main interest 

rate set by the central bank or a purchase of 

financial assets by the central bank. 

(d) None of the above 

 

51. The interest rate has risen. A possible 

explanation is that 

(a) there are more banks and fewer firms. 

(b) there are fewer banks and more firms. 

(c) there are fewer banks and fewer firms. 

(d) None of the above 

 

52. If the central bank conducts a contractionary 

open market operation and, simultaneously, 

households purchase more T-bills, the interest rate  

(a) necessarily rises. 

(b) necessarily falls. 

(c) necessarily remains constant.  

(d) None of the above 

 

53. What could justify both a rise and a fall of the 

interest rate? 

(a) An expansionary open market operation 

(b) An increase in the reserve requirements 

(c) The combination of (a) and (b) 

(d) None of the above 

 

54. What is the necessary effect of conducting a 

contractionary open market operation when firms 

issue financial assets to finance the construction of 

new factories? 

(a) A fall in the interest rate 

(b) A fall in the amount of liquidity 

(c) A rise in the interest rate    

(d) None of the above 

 

55. The interest rate  

(a) falls if the government issues T-bills massively. 

(b) goes up if the central bank sells T-bills. 

(c) remains constant no matter what the central 

bank does. 

(d) None of the above 

 

56. The interest rate corridor is 

(a) a repurchase agreement (or repo transaction). 

(b) a lending facility and sometimes an open 

market operation. 

(c) not a deposit facility. 

(d) None of the above 

Problem Set 2 · Exercises 

 
 
57. Liquidity market model. In the liquidity 

market model, ascertain the likely effect on the 

equilibrium interest rate and the amount of 

liquidity of each of the following events. 
 

(1) The arrival of a large number of immigrants 

(2) A significant number of factories close 

(3) There is an increase in the proportion of 

income saved by households 

(4) To finance important investment projects 

the main firms issue corporate bonds 

(5) The central bank executes an expansionary 

open market operation 

(6) More foreigners buy domestic financial 

assets 

(7) The population of the economy grows old 

(8) The banks refuse to lend to persons younger 

than 40-year old 

(9) Foreign banks enter the economy and settle 

new offices 

(10) Unemployment doubles 

(11) The inflation rate doubles 

(12) The inflation rate is expected to double 

(13) The central bank increases the level of 

reserve requirements and sells T-bills to banks 

(14) The central bank increases the reserve ratio 

and purchases T-bills from banks 

(15) The government budget goes from surplus 

to deficit 

(16) The stock market crashes 

(17) Unquestionable evidence that the afterlife 

exists is made public 

(18) Economic activity contracts (GDP falls) 

(19) Spain leaves the eurozone 

(20) (1) and (2) occur simultaneously 

(21) A bank run is believed to occur soon 

(22) The resale of T-bills is forbidden 

(23) A law is passed declaring tax-free the profits 

obtained from investing in T-bills 

 

58. Bank runs. There are many instances of bank 

runs in the US economic history: 1819, 1837, 1857, 

1873, 1893, 1907… 

(i) Explain, with the help of the liquidity market 

model, the effect of a bank run on the interest rate, 

stating clearly which function or functions shift 

and why. 

(ii) Suggest two monetary policy measures that 

could offset the effect of the bank run on the 

interest rate and indicate the function or functions 

that each measure modifies. 
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59. Money multiplier process, liquidity market, 

monetary policy. Banks have voluntarily decided 

to increase their reserves substantially. 

(i) Explain the effect that this decision is likely to 

produce on the money multiplier process. 

(ii) By means of a graphical representation of the 

liquidity market, show the impact of that decision 

on the equilibrium interest rate. 

(iii) Suggest a measure by the central bank that 

could offset that impact and explain what would 

make the measure effective. 

 

60. New liquidity market model. Consider the 

liquidity market model in which the supply of 

loans function is increasing up to a certain point 

(��, ��) and, for each interest rate � > ��, the supply 

function becomes vertical at the value � = �′. 

(i) Draw this function. Draw also a standard 

demand for liquidity function such that the 

equilibrium interest rate �* is higher than ��. 

(ii) Suppose that, for any shift to the right or to left 

of the supply of liquidity function, the resulting 

function remains vertical at �′, so the supply of 

liquidity cannot be higher than �′. Taking as initial 

situation the market equilibrium drawn in (i), 

analyze graphically the effect on the interest rate 

when an expansionary open market operation is 

conducted and indicate which funcions are 

affected by the open market operation. 

 

61. OMOs. The expression Quantitative easing (QE) 

refers to a policy by means of which a central bank 

buys assets (for instance, government bonds) 

mainly from non-bank financial companies (like 

pension funds and insurance companies). QE	aims 

to increase private spending directly by circum-

venting the banking sector. 

(i) Is a QE programme essentially like an 
expansionary or a contractionary OMO? 

(ii) Analyze the effect of a QE programme on the 
interest rate using the liquidity market model. 

 

62. Liquidity market model. (i) Find out the effect 

on the liquidity market equilibrium of: 

(a) a reduction in the government deficit; 

(b) a reduction in the government deficit that 

occurs when the number of banks is reduced. 

(ii) Suggest an open market operation capable of 

neutralizing the effect on the interest rate 

established in (b) and illustrate your answer 

graphically. 

63. Liquidity market model. (i) With the help of a 

graphical representation of the liquidity market 

model, determine and explain the effect on the 

equilibrium interest rate of an increase in the 

number of people that purchase financial assets. 

(ii) Suggest two measures by the central bank that 

could neutralize that effect and indicate in a 

graphical representation of the market how these 

measures achieve the desired goal. 

 

64. Liquidity market model. (i) Over the two 

decades represented in the chart below, can 

monetary policy be considered, in all three 

economies, rather expansionary or contractionary? 
 

 

ECB Monthly Bulletin, December 2014	(S43) 
http://www.ecb.europa.eu/pub/pdf/mobu/mb201412en.pdf 

 

65. Robin Hood tax. (i) Analyze graphically the 

effect on the interest rate of establishing a tax on 

the sales of existing financial assets. It is the sellers 

who must pay the tax. The central bank and the 

government are both tax-exempt. 

(ii) Suggest a monetary policy measure by the 

central bank that could neutralize the change in 

the volume of liquidity found in (i). 

 

66. Equilibrium interest rate. (i) Which is the 

effect on the interest rate of an increase in the 

reserve ratio that occurs at the same time as a sale 

of T-bills by the central bank? 

(ii) What if the sale were a purchase? 

 

67. Rate of return. (i) Compute the rate of return 

of a €120 loan when only €80 are repaid. 

(ii) What if €80 are loaned and €120 repaid? 
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68. Liquidity market model. Analyze graphically 

the effect on the equilibrium interest rate in the 

liquidity market model of: 

(i) a contractionary open market operation 

conducted when households are forced to sell 

most of the financial assets they own in order to 

pay pending debts; 

(ii) an expansionary open market operation 

conducted when (a) the government issues T-bills 

to finance an increase in the government deficit 

and (b) foreign investors sell the domestic 

financial assets they own. 

 

69. Bubbles and monetary policy. A speculative 

bubble (market bubble or speculative mania) 

occurs when the price of a good or financial asset 

is systematically inflated with respect to what may 

be called its intrinsic or fundamental value. In this 

case, most of the trade in the market is carried out 

under the expectation that the price of the good or 

the financial asset will rise, so buyers typically buy 

expecting to be able to sell later at a higher price. 

A speculative bubble bursts when the price of the 

good or financial asset suddenly plummets 

(crashes). 

Explain why central banks generally respond to a 

stock market crash by conducting expansionary 

open market operations. 

 

70. Liquidity market model. (i) By means of a 

graphical representation of the liquidity market 

model, determine and explain (en case separately) 

the effect on the interest rate of: 

(a) placing a 10% tax on bank loans that has to be 

paid by borrowers; 

(b) the prohibition of obtaining loans from other 

countries with the same currency (for instance, the 

Spanish government does not allow Spanish firms 

and citizens to borrow from French banks). 

(ii) Suggest two measures by the central bank that 

could neutralize the effect on the interest rate in 

case (a) and show in a graphical representation 

how any of these measures achieves the goal. 

 

71. Equilibrium interest rate. (i) Identify three 

events that may cause an increase in the 

equilibrium interest rate and three that may cause 

a fall in the equilibrium amount of liquidity. 

(ii) Identify two events that may cause, at the same 

time, a fall in the equilibrium interest rate and a 

fall in the equilibrium amount of liquidity. 

72. Interest rate. (i) May the nominal interest rate 

of an economy be persistently negative? What 

would that mean? 

(ii) Could it be persistently equal to zero? 

(iii) Can people be considered more patient when 

� = 0 than when � > 0? 

 

73. Liquidity market model. Find all the equilibria 

interest rate if the demand for liquidity function is  
  

�� = �
		8 �						if	0 ≤ � ≤ 	8

0													if		� > 	8
 

 
and the supply of liquidity is given by the 

expressions � = 14 + 2 · �� if		�� > 0 and �� = 0 if 

0 ≤ � ≤ 14. 

 

74. Central bank. (i) Explain why the central bank 

cannot simultaneously control the interest rate i 

and the money stock M1. 

(ii) List three functions of a central bank. 

 

75. Interest rate. A government announces a debt 

default: interest payments corresponding to the 

government’s public debt will not be honoured for 

the next ten years. Explain and analyze graphi-

cally in the liquidity market model the effect of 

this announcement on the domestic interest rate. 

 

76. Liquidity market model. In the first week of 

May 2015 the Danish government announced that  

it was planning to allow gas stations, clothing 

stores, and restaurants the option to stop taking 

cash payments. Explain how this measure would 

affect the money multiplier process and the money 

multiplier itself. 

http://qz.com/399531/denmark-hopes-to-boost-its-

economy-by-eliminating-cash/ 

 

77. Liquidity market model. Initial situation: 

purchasers of financial assets have to pay a tax 

when purchasing financial assets, whereas the sale 

of financial assets is tax-free. 

(a) Using the liquidity market model, explain and 

analyze graphically the effect on the equilibrium 

interest rate of each of the following events: 

    (i) the government removes the tax on purcha-

sers of financial assets; 

    (ii) the government imposes a tax on the sellers 

of financial assets when selling financial assets. 

(b) Indicate a monetary policy measure that could 

offset the effect on the interest rate when both (i) 

and (ii) occur. 
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78. Liquidity market model. Indicate how the 

following events are likely to modify the market 

functions (“”= shift to the right, “”= shift to 

the left) and the equilibrium interest rate �*  (“” = 

goes up, “”= goes down, “=”= unaltered, “?”= 

ambiguous or uncertain change), where S	 is the 

supply of liquidity function and D	 is the demand 

for liquidity function. 

 S D �* 

The central bank conducts an 

expansionary OMO 

   

Households reduce the amount of 

financial assets bought 

   

The government issues T-bills    

Banks refuse to lend to firms and, to 

obtain funds, firms sell financial assets 

   

The central bank lowers the level of 

reserve requirements 

   

Lenders expect an immediate rise in 

the inflation rate but borrowers be-

lieve the inflation rate witl not change 

   

Firms and households refuse to buy 

financial assets anymore 

   

 

79. Liquidity market model. A government 

anticipates its inability to pay its debt and, to give 

legal coverage to a probable default, the 

government passes a law according to which, in 

some circumstances, borrowers may choose not to 

repay their loans. Explain and analyze graphically 

in the liquidity market model the likely effect of 

this law on the equilibrium interest rate. 

 

80. Two economies. There are two economies, A 

and B. In A the central bank conducts an 

expansionary open market operation. Analyze 

graphically by means of the liquidity market 

model how this operation would affect the interest 

rate in A and the interest rate in B. 

 

81. Liquidity market model. Suggest events 

causing the shifts of the functions indicated below 

and specificy the effect on the equilibrium interest 

rate (if the effect is not ambiguous). 

(i) Supply of liquidity shifts to the left, demand for 

liquidity shifts to the right. 

(ii) Supply of liquidity shifts to the right, demand 

for liquidity to the left. 

(iii) Supply of liquidity shifts to the right, demand 

for liquidity fixed. 

(iv) Supply of liquidity and demand for liquidity 

both shift to the left. 

82. M0	 and	 OMOs. The reserve ratio is 30%. The 

liquidity ratio, 1/5. The money stock, 24,000. 

(i) Find the monetary base. 

(ii) Explain what kind of OMO would increase (and 

explain how) the money stock by 48,000. 

(iii) Calculate the amount involved in the open 

market operation. 

 

83. Italy 2016. Banca Popolare and BPM merged in 

2016 to create the then third biggest bank in Italy. 

The bank merger was intended to create a “larger, 

stronger, and more transparent” bank. Using the 

liquidity market model analyze, and explain, the 

impact on the equilibrium interest rate of a bank 

merger with the above characteristics. 

http://www.lavanguardia.com/economia/20160324/406547

69221/italia-banca-popolare-bpm-fusion.html 

 

84. OMO. Explain if the following assertion is true 

or false: “A contractionary open market operation 

occurs when people or firms sell financial assets.” 

 

85. Open market operation. Explain what an open 

market operation is, pick two macroeconomic 

variables affected by this kind of operation, and 

indicate how they are affected. 

 

86. Italian banking crisis, 2016. The chart below 

shows the proportion of nonperforming loans in 

Italy. At the time, 2016, appeared to indicate the 

breaking down of the Italian banking system. 

(i) Using the liquidity market model, analyze the 

impact on the equilibrium interest rate of an 

increase in the proportion of nonperforming loans 

in a banking system. 

(ii) Suggest a monetary policy measure by the 

central bank that could neutralize that impact. 

 
https://www.ft.com/content/921dee0a-4737-11e6-b387-64ab0a67014c 

 

87. Monetary policy. Explain four ways by means 

of which a central bank can increase liquidity. 


